SCURVE_MEAN: THRESHOLD_SCAN.
Module "SC1"

Threshold mod 0 chip O

Row

140

120

100

80

60

40

20

10 12 14 16

Column

5200

Constant
Mean
Sigma

700

667.2
4008
35.8

600

500

400

300

200

100

PR RSN TR NN SR TR T (T S W M R R PUR SR TR N T NN SN SO TR [ ST SR (S S SR '
3200 3400 3600 3800 4000 4200 4400 4600 4800 5000 5200

5200
5000
4800
4600
4400
42005= . .. . . Lo s
4000 B R R P SR
3800
3600
3400
3200

L | L L | L L 1 L
1500 2000 2500
"Channel” = row+160*column+2880*chip

1 R
500 1000




